MR RS R S

E-SEOHKX (EZ+=£FMERR)

(B) FR29%F 48 1B () Fpi30& 3A31H

#HEELEABNETHEELRES

FEIHIHEE
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#E # B LEFEREWN ATEERE (B) HE R (A) - (B)

¥ W | eBIE 14,677, 300 14, 682, 500 A 5,200
||:“ B [ _mamis 10, 944, 300 10, 861, 500 82, 800
=2 [EPSEF e 787,000 818, 000 A 31,000
= Sl cH B AE 2,946, 000 3,003, 000 A 57,000
5] & IR 646, 368 778,108 A 131,740
f%-* BEEBSMESNE 646, 368 778,108 A 131,740
’gf BEEBADSNE 25, 342, 552 30, 054, 235 A 4,711,683
# R BETAT B N EE 15, 000, 000 19, 300, 000 A 4,300, 000
HBZESERAPSNA 15, 000, 000 19, 300, 000 A 4,300, 000
HEHESER S I 9, 045, 552 9, 295, 235 A 249, 683
—RESE U 8,430,115 8, 645, 942 A 215,827
BERET T HLOERSSINE 615, 437 649, 293 A 33,856
BRSNS 997, 000 1,159, 000 A 162,000
R A 19, 000 19, 000 0
RLHEL DI YHEETILBLEHLINE 0 162, 000 A 162,000
BB EEHEEIE G 978, 000 978, 000 0
AOEFSAS NG 300, 000 300, 000 0
AOEFSAS NG 300, 000 300, 000 0
SIS UG 1, 365, 000 1, 313, 000 52, 000
EEREHGZES NG 1, 365, 000 1, 313, 000 52, 000
HERIEEZESNG 495, 000 489, 000 6, 000
BEAFANRIESTEZTASNE 870, 000 824, 000 46, 000
g 204, 900 198, 000 6, 900
F IR I 152, 500 154, 000 A 1,500
F DD F AR 152, 500 154, 000 A 1,500
FHRIRE 52, 400 44,000 8, 400
SRS NG 762, 150 661, 620 100, 530
SRS NG 762, 150 661, 620 100, 530
FDDEBEINE 343, 100 275,100 68, 000
R A BN 419, 050 386, 520 32, 530
H—E R EBIREET (1) 42,998, 270 47, 687, 463 A 4,689,193
BN 36, 085, 159 35, 560, 186 524,973
B mans 18,578, 483 18,936, 178 A 357,695
BEES 5,827,024 6,567, 827 A 740, 803
BE5B|LERA 66, 447 50, 870 15,577
FEHBERS 3,466, 192 1,671, 500 1,794, 692
ERRTER 3,685, 683 3,159, 943 525, 740
EEEAE 4,461,330 5,173, 868 A 712,538
e 1, 625, 908 1,418, 284 207, 624
HEREELE 542,738 591, 310 A 48 572
REEH 613, 893 534, 889 79, 004
HE 360, 277 256, 335 103, 942
Hie 109, 000 35, 750 73, 250
E=HE 10, 731, 857 10, 657, 072 74, 785
BERIELR 149, 861 151, 990 A 2,129
REZEE 11, 380 26, 750 A 15,370
THEM R E 9, 600 70, 850 A 61,250
EREERE 422,099 572, 842 A 150, 743
FRIS A E 339, 444 631,239 A 291,795
KBS EE 199, 345 168, 000 31,345
BHE 8,924 20, 156 A 11,232
BISERE 456, 091 442, 231 13, 860
-t 43,900 103, 700 A 59,800
L& 3,405, 181 3,208, 083 197, 098
(BERE 2,523,507 2,262,737 260, 770
FHH 856, 018 867,574 A 11,556
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#E # B WEERE N ATEERE (B) HE R (A) - (B)

RIRE 320, 610 296, 350 24, 260
B 182,138 160, 393 21, 745
T - BMERH 1,199, 824 1,027, 840 171, 984
RN E 36,935 92, 337 A 55, 402
R 108, 000 108, 000 0
BNE 20, 000 10, 000 10, 000
Py 439, 000 436, 000 3,000
BREER 11,902, 144 11, 864, 765 37,379
BREER 11,902, 144 11, 864, 765 37,379
EitBARBH2SER 750, 000 750, 000 0
EiE - IASEREE A 499, 352 508, 097 A 8,745
RSUT 4 7EHDREER 128, 420 91, 800 36, 620
XA REER 10, 461, 212 10, 437, 868 23, 344
EUSZEDREER 63, 160 77, 000 A 13,840
SR ER 17, 000 17, 000 0
SR ER 17, 000 17, 000 0
ZOHhNEEEER 17, 000 17, 000 0

BEENE 1,783, 665 1,732, 984 50, 681
EERMESE BB IS A 276, 250 A 276, 250 0
+—E ZEHERE (2 61, 869, 483 60, 974, 041 895, 442
H—EZEHEEREEQ)=1)-2) A 18,871,213] A 13,286,578 A 5,584, 635
DY [ I [ZHFIBE LS RE 83,795 120, 302 A 36,507
f"t B [Zzothot—E R EBSMNE 1,445,169 830, 755 614, 414
2 2 ATHE R INZE 75, 000 0 75, 000
o HANES 1,370, 169 830, 755 539, 414
) AT 1,370, 169 830, 755 539, 414
fg; +— b ZEBIMNEEE (4) 1,528, 964 951, 057 577, 907
o | BF +—E ZEBN B R 6) 0 0 0
H—E ZEEINERELE (6)=(4) - (5) 1,528, 964 951, 057 577, 907
BEEHELE (1)=3)+(6) A 17,342,249 A 12,335, 521 A 5,006, 728
B | I |EERHEBASINGE 2,000, 000 1,472,553 527, 447
B | B RARSmEAS R 521, 441 A 527,447
7 RN ZSE (8) 2,000, 000 2,000, 000 0
o | B |BEEERIE - U8 3 1 2
w | B | Zm@EREsNE - unE 2 1 1
FERVERTHNE - U018 1 0 1
EERNBECEEREER 453, 531 0 453, 531
%51 & A (9) 453, 534 1 453, 533
1% B R 58 (10) = (8) - (9) 1,546, 466 1,999, 999 A 453,533

L EEBNIERELE (11)=(7)+(10) A 15,795,783] A 10,335, 522 A 5, 460, 261
) B R (12) 30, 862, 825 40, 198, 347 A 9,335,522
o i LR R EDIERERE (13)=10+(12) 15,067, 042 29,862,825] A 14,795, 783
0 5E ES EASIURE (D 0 0 0
B Z Db IE L = B AR %A (15) 20, 000, 000 1,000, 000 19, 000, 000
13 £ DBOE T 2T TH (16 0 0 0
= R RE IR 35, 067, 042 30, 862, 825 4,204,217

(N=>13)+(14)+(15)-(16)




